1 | ? | 3 | 4 5 6 ] | 8

DWG-NO- 900-048-859-2/2

(NOTE1) This drawing is the base-mounted type.

(NOTE2) Refer to the USER’S MANUAL for standard for installation.
> (NOTE3) Refer to the another drawing for the outline of the option unit.

TERM I NAL
6-M5 SCREWS
B ==
N [©)] ||
B '
s g COOLING FAN ~ NAMEPLATE AIR FLOW
il | TERMINAL
° Jol L | 5-m4 screws
9 = _
© 1 / . . L= = 3 AR
o e | / : AIR a8 LA
e [T ‘J FI‘O‘W HHHHHHH
ol T L I
. e TERM I NAL I it
e 3-M5 SCREWS ’ = sl i
. — i 3 I s RS
NCTE I el i
GROUND TERM INAL I il LI
2-M5 SCREWS I L
TERMINAL DETAIL %H}HHH %[H%
1-M5 ) filil LHHHE
SCREW HOLES B e ©) 3 -
OUTLINE
| 135 13
- \ | ‘ 155 (75) 230
N \ | 2 97 OPTION UNIT (1.6)
2 V2 | |
=y | ] P
g ] o, hoDeL CONTACTS | MANFACTUREF o L e
| CNT [ 10226-52A2PL 26 [SUMITONO 3M LIMITED o TN NN TR ALY
| | CN2 [53984-0671 6 |MOLEX JAPAN CO.,LTD. o | '==mmnl [ 1T U0
[ 4 ’ = ARBEE g =1
e CN3 [HDR-ECTALFDTN-SLE-PLUS| 14  |HONDA TSUSHIN KOGYO CO.,LTD. ‘ ]
S 1 | lﬁoﬁ%'NZ CNT | MNC23-5K5H00 5 | ADVANCED-CONNECTEK INC. K ° =
135 CNg {1981080-1 8 Tyco Electronics AMP K. K. E
1595 P The above or the equivalent is used. h
APPROX . MASS: 5. Tk
MOUNTING HOLE DIAGRAM Remove mass of the option uni’r(f] (8)) DIMEN(S3IC§)in -
7' YASKAWA @g LY OUTLINE DRAWING OF SERVOPACK . 2;
REFERENCE ONLY #aan 2B [SCALE 1 - (|:||:|:E1,SEGSD)V(1*7:OODPDTDIAO*N CODED 900 048 859 2

1 2 |||||||||| 6 | 7 [STZE] A3






